No Hy

* Sinee $Y(x) <O on
e mievuad C"OO 30
e Londhvon (s oig,c,.

* Sinee £'(x) YO on
, ‘k/\'\i \V\'\-OV\MJ (%,OOB
) ‘\’N —vi\c)huw s ync.

u&% & +— > X

3
\Movxal(oo)5) (5)00 )
dosonet doc e
LN

£0O = %% 4x —\

o 2'.65 *Sma £ 0 e e
/ W evuad (=0, -2) wo
T /{' B — Lundhpn vs mc\n’.ag\vxg
" ‘ ‘Sincu £'00 <0 g
% . =g wbvyd  FZ,00) bt
& ! > X fundhen ©6 deortosivey.



L6 = ~X>-\K? -2ox ->0

2
M w(?\é’ "Sinee. £1(%) <0 on e
[\ Mitvvals (08) g (22 )
it Lonchane v dLLWS)V\@‘
\/ \ “Smee £ >0 m
e \. Mbeual (5,72.3) i fonehon
&6@ 'S nevensing-

- F
5 - ’
- L33
(0,-3) (-5,-23) (52, ®)
dec nC duc




\S. Firer Dexprwe |\ o

Rocall ‘0 L' noM e
\-‘ . R

S;\O() >0 “\'Ar\_o/w ~ 'y iv\ S WG

Oy, N |
T (x) <O Ln s doc o o
S =0 2 1 . DU

or o ) YA

' EX j—‘ Q(x\, = 25F —\Lx »\H S{\ — A

QYX\) = HYx-12 P & 13 >
O = 4x-12 int 0,2 T (3, D)
x=2 & dec inc

LY(o) =40y -1 <O
Lr(0) = 1oy Y0

tv2] = F X gy — o
L= — %= TAR CP > -
=0 (5o D n¥ (-9, 00 (O, o0)
: £ o C \ da
£ (- =72« O A\

Sy = == <0 -
/\\
x> L) - X~ N EW
Six) = 202 0% —+ >
O = 23" tnt (—oo)o)oco)oo)
P =0 \n C N



VA Q N2
/ { - /
W\ 4 ’

i

® Q
<

XA S0 = ""%\Qﬁ X L @ — 4
D= Dx* - Zx o + —

, Wt (oo, O) (0, %3) Z/5C2/5 )
P v = O, Ya £ inc cuc N

. - X_ Q‘ + — +
= 5 3 CP f ; >
R O L W N Zw = 4 \ \?> g :
“ ) Ltal N = g 3 \ﬂ* ("(X)’l% ( %,\> (\ij

0= x-%x -3 )¢ £ ne duc e

N



- :PZ«
6xl2’ A?(X}: % Do ~

-2 £
) 5
YU e e (2
(%-2\*
Q\(X\: -~
$y=0 () ONE
-2.#0 (x=2))" =0
=2

83(—] & —CC)(\;-: ZZ '\“owou(

2% + (8
Y % @ £ “"/X\; = 25 ( 2%+ = 3?\
2><7< > (2 +6)* ¥ (o0,-4) (4,-2) L-z2,0) (0,05
Q‘f%} = Caxz 2Ly - B -Q NG duc \ dec WL
(2% "‘/Ov.z ' (
L) = 3 +\2x B 2% (% +"f> AR /\
(Byrla)™ (2x o) ‘A?—/%
£()=0 £00) e
2% H2x=0 (3x+b)=0
Dv(x+4)=0 D%+ =0
Y= O)’L?' N -7



W

9 AV

{IQJ:F @$ @\"/
M ’QCX\ - —__——Q‘XL ’gvo«',’b A \ QAW‘
%~ G oA =T
\ 1 QRS
P - t 7
' ™ O 3 0
‘Q/XS = ZX’L - \lQ—X e ((\'\' (—OO}O) (O“b) ,1 (3’@) ((,‘ OO)
(x-3y* £ inc due | e (v
D ey=0 L'oNe \x
Lx*-12x <o (x-5)"=O N
Lx (%-) =0 |
T=0 @ %= 2
4 (—\{.‘\ N (N~ _\_\’..—\
y S . R 7
O 2, (9



